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Example 32
y' () = [cos(3z + 2)]" = — sin(3x + 2) - (3= + 2)" = —3sin(3z + 2)
Example 33
Y (z) = (cos"z)' =4 cos’z- (cosz) =4cos’z - (—sinz) = —4cos’zsinz.
Example 34
Y (z) = (3°%%) = 3“**.In3 - (cosz) = —3°**In3sinz
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Example 40
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Example 41
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¥ (z) = (Sin E)' = cos =+ (E)' = gcos 3
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] 1 ’ 1 '
¥y ()= (vVsin2z2 +1) = ——— - (sin22 + 1) = ——— - cos 2z - (22)
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Zcos 2z cos 2z

Z\sin2z +1 \/sin2a:+1.
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V(@ = [@+va)] =3@+va) @+ va) =3+ vE)"- (1 + 2})
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Example 48
. z+1\] 1 z+1\ -1 (@+1)(z-1)—(z2+1)(z—-1)
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